






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120







Find the option which should replace (?)

Leg , Nose , Brain , Finger , ?

(A) Shoulder

(B) Hand

(C) Stomach
(D) Mouth
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Find the missing :-

Ship : Ship Fleet :: ? : ?
जहाज: जहाज बेडे ::? :?

1. Nomad : Crowd  / घुमक्कड: भीड

2. Hyena : Herd / हाइना: झुुंड
3. Scholar : Gang / विद्वान: विरोह

4. Singers : Band / िायक: बैंड
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Find the odd one (?)

(A) CDC 
(B) ABE 
(C) BAE
(D) GBI



Find the option which should replace (?)

94 + 16 = 42   

89 + 23 = 78

63 + 45 = ?

(A) 18

(B) 28

(C) 38
(D) 48



Find the option which should replace (?)

DHLP : BDFH 

FLRX :: ?

(A) FHLK

(B) CFIL

(C) KHPL

(D) DHMK



Find the option which should replace (?)

CDEF : EGJM 

PQRS :: ?

(A) RTUZ

(B) SUMK

(C) ADIL

(D) ALNP



Find the option which should replace (?)

(A) 98

(B) 100

(C) 132

(D) 2560



Find  the number of square (?)

(A) 5

(B) 2

(C) 3
(D) 1



Find the option which should replace (?)

8 : 8 , 10

5 : 8 , 7

4 : ? , ?

(A) 10 , 7

(B) 7 , 10

(C) 5 ,12
(D) 12 , 5



Find the option which should replace (?)

Breeze : Cyclone :: Drizle 

हिा: चक्रिात :: ब ुंदा बाुंदी

(A) Flood / बाढ़

(B) Dought /स खा

(C) Downpour / म सलधार बाररश

(D) Rain / िर्ाा



Find the odd one (?)

1. Fog / कोहरा

2. Cloud /बादल

3. Rain / िर्ाा

4. Mist /धुुंध



Find the option which should replace (?)

6 * 3 = 13   

5 * 20 = 96

19 * 11 = ?

(A) 191

(B) 194

(C) 207
(D) 209



Which of the following diagrams indicates the best relation between 
(Criminal , Thief , Murderer) / (अपराधी, चोर, हत्यारा)

A. B .C .D.



Find the missing term(?)

5 : 36 :: 11 : ?

(A) 70

(B) 77

(C) 72

(D) 80



Find the missing term(?)

16 : 240 :: 25 : ?

(A) 625

(B) 650

(C) 675 

(D) 600



Find the missing term(?)

6 : 27 :: 10 : ?

(A) 115

(B) 145

(C) 105 

(D) 125



Find  the number of triangle (?)

(A) 10

(B) 16

(C) 19

(D) 21



There are 8 members in a friends group who greet each other on a 
Diwali day by sending cards . How many cards will be use for this 
purpose by this group ?
एक वमत्र सम ह में 8 सदस्य हैं जो एक-द सरे को वदिाली के वदन काडा
भेजकर बधाई देते हैं। इस सम ह द्वारा इस उदे्दश्य के वलए वकतने काडा का
उपयोि वकया जाएिा? 

(A) 50    
(B) 64
(C) 56
(D) 60


